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CARMEL SCHOOL , MADHUPUR
FIRST UNIT TEST 2025 — 2026
Time: 1 hr

CHEMISTRY M.M: 50

Select the correct option:- [5]
Some substances occur naturally they are called-

Elements  (b) Mass (c) Products  (d) Matter

A tripod stand is made up of- (a)  Plastic (b) Wood (c) Glass  (d) Iron
DDT and BHC are examples of-

Herbicides (b) Fertilizers (c) Preservatives  (d) Insecticides

Which of the following is used to stir a mixture ot solution in the laboratory?

Glass tube  (b) Capillary tube (c) Pipette (d) Glass rod

Which of these scientists is responsible for developing a vaccine against rabies?

Henry Cavendish (b) Louis Pasteur (c) John Dalton (d) Dimitri Mendeleev

Define the following terms:- (Any two) [4]
Chemistry  (2)  Preservatives (3)  Central science

Name them:- [5]
Which apparatus is used to measure the volume of liquid-

Name the scientist who developed atomic theory of matter-

Oxygen and Nitrogen were discovered by-

Give one example of explosive-

A Synthetic chemical used in making bullet proof material-

Fill in the blanks :- (4]
Matter is anything that has mass and occupies
We use a to collect a gas.
Never work alone in the 5
is a small tube made of glass.

Match the following:- [51
Column A Column B
1) Poly-acrylic acid a) They are used to get rid of crickets
2) Wire gauze b) Radium and Polonium
3) Chemical industry c) It is placed on tripod stand
4) Insecticides d) Baby Diapers
5) Marie Curie e) It produces drugs, fertilisers and detergents
Write “True’ and ‘False’ for the following statements:- [4]

Preservatives are chemicals that are used to prevent food.

We use pesticides to increase the yield of a crop.

Funnel is used for filtering liquids and pouring liquids from one vessel to another.
William Ramsay discovered atomic nucleus.

Answer the following questions in short: [10)

Why chemistry is called central science?

What is Bunsen burner used for?

Name the different branches of chemistry?

What is biochemistry?

Name four items of daily use which have been made using the knowledge of chemistry,

Answer the following questions in details:- [10]

List the contribution of chemistry in the following fields: a) Cosmetics (b) Medicine
Explain the safety rules that are to be followed in a chemistry laboratory.

State the importance of chemistry in agriculture.

Draw the diagram of the following apparatus and give one function of each. [3]
Measuring Cylinder 2) Conical Flask
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CARMEL SCHOOL, MADHUPUR
FIRST UNIT TEST 2025 — 2026

STD: VII Time: 1 hr
COMPUTER M.M: 50
Q.No. Multiple Choice Question [5]
i A computer system understands only which language?
a. English b. Binary c. Mathematics d. Octal
il. For Binary subtraction, 1 —0 equals
a. 0 b. 1 c.2 d. None of these
iii.  Which of the following are the editions of Windows 10?
a. Home b. Pro c. Mobile d. All of the above
iv.  Which of the following feature replaces the search option in Windows.
a. Virtual Desktop b. Cortana c. Quick Notification d. None of these
\ Which feature allows you see all the programs opened on your computer at once.
a. Action Center b. Desktop View  c. Task View d. None of these
Q.No.ll Fill in the blanks [5]
AR is the latest OS version from Microsoft.
b dsonarounnoeD has replaced venerable internet Explorer Browser in the new Windows
10.
©, In Binary Addition 1 + 0= ............ where ......... iscarryand ....... is sum.
d. Hexadecimal Number System consists of .............. digits. -
€. IWith .o cosees you can create multiple screens and have different applications open on g
each screen. P
Q.No.IlI Write T for true statement and F for false statement. [5]

a Windows 10 comes with five different editions.

b. Windows 10 was officially released to the public on July 29" 2019.

C. Microsoft Edge was built from scratch using a proprietary engine called Edge HTML.
d Binary 0 multiplied by Binary 1 gives 1.

e Binary addition is not same as Decimal Addition.

Q.No.lV Answer the following questions:-

i What do you mean by Virtual Desktop? 2]

ii. Convert the following decimal numbers into binary numbers. 31
a. (1963)]0 b. (97])]9

iii. Convert the following octal numbers into decimal numbers. [3]
a. (700)g b. (6571)g

iv. Add the following Binary numbers. 3]
2.10110+11010 b.10110+10 11

V. Subtract the following Binary numbers. 3]
a. 11001-10001 b.10101-10101

vi.  Multiply the following Binary numbers. 3]
a.101X110 b.1101X101

vii.  Divide the following Binary numbers. 3]
an1'0 181501 b.10110=101

viii. What are the rules to perform Binary Addition and Binary Multiplication? [5]

ix.  Mention all the features of Windows 10 OS. 5]

X Write down the steps to change the background of Desktop. 5]

&EEEEEEEEE

J

C} Scanned with OKEN Scanner



CARMEL SCHOOL , MADHUPUR
FIRST UNIT TEST 2025 — 2026

STD: VII Time: 1 hr
MORAL SCIENCE M.M: 50

Choose the correct option:- [5]
Who find themselves in situations of need like human beings?

Animals b. Plants c. Non- living things

Together everyone more.

accomplishes b. Fail c. die

What is needed to understand each other as a team member?
Communication b. Facilities c. Beauty

Animals deserve kindness because they are

helpless and cannot plead their own cause. b. they cannot cook by their own.
they harm human beings.

Which teams enjoy being together?

Healthy b.  Unhealthy c. Lazy

o
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Fill in the blanks:- [6]
_____isapart of life and no one can escape this.

Kindness and justice to animals is an essential part of human

teams enjoy being together.

. and a dominating attitude disturbs team spirit.

It takes justa__heart to help animals.

o
7z
<)

o = B

Write T for True and F for False:- [6]
Animals never need human help.

Ie)
z
=

R

We should be kind to animals.
We should thank elders and add the sense of dignity into their lives.
By complementing each other in a team, we achieve bigger goals.

To understand each other, a team has to be willing to invest the time necessary to

share their feelings and opinions.
We should never forget this truth that it is just because of our elders that we are

enjoying life.

A

Q.No.IV Answer the following questions:- [18]
Why do you think it is important to take care of our elderly?

In what ways can you express your love and respect for elders?

Why do you think there should be a feeling of compassion towards animals?
How does the universe teach you the value of teamwork?

What do you mean by teamwork? How it is important?

What are the essential qualities needed to build a strong team?

QLB

Q.No.V Write a quote given by ‘Mahatma Gandhi’ on the way animals should be
treated. [5]
QNo.VI  Write a universal prayer. [5]

Q.No.VII Answer the following question. [5]
1. What is consent? Why is consent important?
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CARMEL SCHOOL , MADHUPUR

FIRST UNIT TEST 2025 — 2026
STD: VIII Time: 1 hr

ENGLISH - II M.M: 50

Section — A [Attempt all the questions —20 Marks]

Q.No.lL Choose the correct answers to the questions from the given options. [10]
i.  Maanya was the idea of visiting the No Man’s Island.
a) Scared of b) excited about___ c) disappointed with .

ii.  The Control Station of project Hynek was inside a
a) Secret lab b) concrete hall. c) huge dome
lii.  The aim of the project was to neutralize the ___and catch the UFOs
a) Magnetic fields. b) lasers c) powerful missiles
iv.  Sherlock Holmes did not discard the hat because he
a)  Wanted to show it to the narrator. c) Was keen to look at it closely for clues.
b)  Felt that he himself could use it. d) Wanted to give it back to its owner.
v.  Ryder had stolen the gem and .
a)  Then got scared c) Run to the goose seller
b)  Then blamed the plumber d) Chased Mr Baker to get the goose.
vi.  The word ‘microbe’ means a :
a) A small monster. b) micro-organism c) ghost
vii.  The microbe needs a to be seen.
a) Magnifying glass. b) pair of spectacles. ¢) microscope
viii.  The word ‘tufted’ here means '
a) Knotted into a bunch.  b) hairy. c¢) thick
ix. According to the poet, must know about the microbe.
a) Other poets. b)everyone. c) scientists
x.  The last four lines of the poem convey a sense of
a) Humour.  b) mystery. c)adventure

Q. No. II. Write the meanings the following words (10)
i Classified v. Stray ix. Deserted.
ii. Commissionaire vi. Incessant. X. Astounded
iii. Defiantly. vii.  Rifled
iv. Incredulously. viii. Hubbub

Section B- 30 Marks (Attempt all the questions)

Q.No.III.  1.“ Why didn’t we fly straight to the No Mans islands?”

i.  Who asked this question and to whom? (1)
ii. Why didn’t they fly straight to the islands? A3)
iii.  Why were the islands chosen for the project? 3)
iv.  what was doctor gogoi’s condition for manya to travel with him? (3)
28 “Dr Gogoi pointed to a news item on the front page.”
i To whom did Dr Gogoi show the news? )
ii. What was the news item about? 3)
iii. What was the listeners reaction? 3)
iv. What question did Manya have about Project Hynek? What answer did Doctor
Gogoi gave her? 3)
3. “ Our world, so worn and weary, needs music pure and strong to hush the jangle and discords of
sorrow, pain and wrong”
i.  What is the meaning of jangle and discords? )
ii. Who is the poet of the above lines? Name the poem. 3)
iii.  Write at least four describing words for the poem. A3)
iv. What is required to encourage human beings to have strength of spirit? 3)
kR KR KK ;
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CARMEL SCHOOL , MADHUPUR
FIRST UNIT TEST 2025 - 2026

STD: VIII Time: 1 hr
BIOLOGY M.M: 50
Q.No.I Choose the correct option from the following:- (7]
I

Spirogyra can reproduce asexually by :

Fragmentation b. Fusion of gametes c. Binary fission. d. Budding
Salvia is an example of :

Wind pollinated flower b. Water pollinated flower

Insect pollinated flower.  d. Self pollinated flower.

The pressure exerted in the root due to continuous inflow of water is called :
Cell pressure. b. Shoot pressure. ¢. Root pressure. d. Transpiration pull
The upward movement of water and minerals to the leaves is called.
Down flow of sap b. Descent of sap. c. Inflow of sap. d. Ascent of sap
Which of the following reproduces by fission ?

Yeast b. Bacteria c. Fungi d. None

weop P
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Q.No. II Assertion (A) : Transpiration helps in the transport of nutrients from the roots

| to the upper parts of the plant.
Reason (R) : Nutrient absorption in plants primarily occurs through the process
i of photosynthesis.
I (@) A is True and R is False (b) A is False and R is True

(c) Both A and R are True (d) Both A and R are False

22 Assertion (A) : Artificial pollination is a risk-free method of crop pollination.
i Reason (R) : it eliminates the possibility of cross pollination and the introduction of unwanted

traits.

(a) A is True and R is False (b)  AisFalse and R is True
(c) Both A and R are True (d)  Both A and R are False
g 31 Mention the type of pollination done by the following agents :- [5]
a. Insects b. Wind c. Birds d.  Water e. Animals

Q.No. IIT Fill in the blanks:- [51
i.  Water is transported through the xylem from
ii.  Water moves from the soil into root hairs by
i iii. Roothaircellsare elongated cells.
i iv. Only dead component of flowing tissue is known as
v.  Yeast reproduces, by

Q.No. IV Write the locations and functions of the following : - [5]
1. Bracts 2. Nectaries 3¢ Spore 4. Node 5. Sieve tube

: Q.No. V Define the following: - [10]

i it Active transport. ii. Root pressure. ili.  Concentration gradient.

i iv.  Callus. . Emasculation

, Q.No. VI Differentiate between the following :-

1.  Pollination and fertilisation. [4]

; 2. Xylem and phloem. 3]

% 3.  Tracheids & Vessel elements 3]

% QNo. VII Draw neat and labelled diagram of any two of the following :- (8] |

g 1. Section of a flower.

i 2. Cross-section of the root showing absorption and movement of water.

l 3. Steps of Binary fission.
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